
1 cWoIf s[lif cfw'lgsLs/)f sfo{qmd 500000

2 a]df];dL t/sf/L v]tL ;DaGwL tflnd 2 k^s 200000

3 ;xsf/L / Pu|f]e]^ ljifbL Go"lgs/)f uf]i^L 100000

4 ;'o{ d'vL ;DaGwL tflnd 2 k^s 100000

5 cuf{lgs v]tL ;DalGw tflnd 200000

6 ;al;*Ldf u+x'sf] ljp ljt/)f sfo{qmd 500000

7 s'v'/f kfng tflnd 100000

8 s[ifL d]nf k|bz{g sfo{qmd 500000

9 pGgt wfg v]tL ljifos 2 lbg] s[ifs tflnd 200000

10 ;al;*Ldf pGgt hftsf] wfgsf] ljp ljt/)f 500000

11 ;al;l*df df%fsf] e'/f ljt/)f sfo{qmd 200000

12 kmnkm'nsf] lj?jf ljt/)f sfo{qmd - cfk, lnrL, s^x/, cDas, cgf/, d]jf / sfutL_ 800000

hDdf 3900000

cf=j=2075÷076 ;fnsf] :jLs[t s[lif sfo{qmdx?

qm=;= of]hgfsf] gfd ufp+kflnsf


